


242yl

ft

o 42 $4)

Y
tlo
=
it
>,
lo

O
-

52

- 5000g = Dkg
-4t = kg

- 900ke = @t
1At =DBg
-0.12t = @kg

@5 @ 4000 ® 0.9

@ 1400000 ® 12



3. o= FolA wole] &9 BAIE HEA e A2 ol

® 25km? = 2500a @ 4.9a=490ha
@ 6800000 m?2 = 680 a @ 0.54ha = 5400 m?2

® 370a = 3.7m?



4. o5 FolA Hol7t 7 E A2 o= AL Y7
O 0.02km?2 @ 0.2ha ® 2000a

@ 20000 m? ® 2ha
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Aoyl 3.2ha 9] oA & 5.6t & YAEIE T, WYl = 4.5ha
o] =ofl A & 7920 kg = ABAISIISUTE 1a & BAFS o] %
9 kg o ¥H5U7R

O A2, 1kg @ AL, 0.1kg ® 94, 0.01kg
@ w9, 1kg ® "9, 0.1kg



9.

the &89 yol7l 9.32ha & o, A& ©a 9]
oA L.
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